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1.2 EA &N

AACE PR ATH ] (RS232 Fil RS485) (IR R -
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M1 URFFaitit

F A AR A 5 PCR EHLE AR RS R

FF A U R A

R ENLE AR A

A3GV1xxx

A3EV1XXX

a A

AS5GV1IXXX

ABGVIXXX

A3GV2000-2005

A3EV2000-2003

A5GV2000-2006

A6GV2000-2009

A3GV2006 K2 J& A

c FiA

A3EV2004 } 2 JG R4

A5GV2007 K2 JGliAs

ABGV2010 K2 JG A

d A

A5GW2000 } 2 J& A

ABGW2000 M2 Ja A




a WA &5 F7- 2% Hohk

THERGEAE):
WE1 | WE2 | WE3 | WiE4 |WiES |WiEe |WiE7 | WiEe | i
00 02 04 06 08 10 12 14 16
JHIE 10 | @ 11 | EiE 12
18 20 22

THRERE(H I E):
WIEL | WE2 | @3 | WE4 | WIES | WiE6 | WiE7 | HiE8 | i
24 25 26 27 28 29 30 31 32
JHIHE 10 | i 11 | aWiE 12
33 34 35

Z & (ulong):
WiE1l | ME2 | WE3 | WiE4 |WiES | HiEe |WiET | WiEe | Wi
36 38 40 42 44 46 48 50 52
JHIE 10 | i 11 | aWiE 12
54 56 58

O SEPR R E = R RE (ulong) / 10

b A FF F7 25 Hu ik

TR R E):
WiE1 | EE2 | EE3 | WiE4 |WiES |WiE6 |WiEY | WES | Wi
00 02 04 06 08 10 12 14 16
THE 10 | J8iE 11 | JEiE 12
18 20 22

THRERE(H I E):
WE 1 | ME2 | WE3 | WiE4 |WESs | WiEe | WEv | WiEe | miE
24 25 26 27 28 29 30 31 32
JHIE 10 | Wil 11 | WiE 12
33 34 35

Z 15 (long long):
WiE1 | WE2 |EE3 | WiE4 |WiES |WiE6 |WiEY | WES8 | i
36 40 44 48 52 56 60 64 68
THiE 10 | JEiE 11 | JEiE 12
72 76 80

PR R E = U ERE(long long) / 100




c hRA & Fr- 2% Hbhk

THEREGEAE):
WiE L |2 | mE3 | WiE4 | WiES | WMiEe | W7 | miEse | il
00 02 04 06 08 10 12 14 16
TWiE 10 | JWiE 11 | G 12
18 20 22

THRERE(H I E):
WIEL | WE2 | @EE3 | WE4 | WIES | WiE6 | WiE7 | HiE8 | i
24 25 26 27 28 29 30 31 32
JHIE 10 | @ 11 | EiE 12
33 34 35

Z R E (ulong):
WiEL | WE2 | WE3 | WE4 | WES | MiEe | ME7 | miEs | Wi
84 86 88 90 92 94 96 98 100
JWE 10 | JWiE 11 | JEiE 12
102 104 106

HrOSEPR RARE = SR E (ulong)

d RRAS 2 728 Hu ik

THERGEAE):
WiEL | @E2 | EE3 | WE4 | WIES | HiE6 | W7 | EEs | Wil
00 02 04 06 08 10 12 14 16
JHIE 10 | EE 11 | JEiE 12 | JEIE 13 | GEiE 14 | #iE 15 | 1E1E 16
18 20 22 24 26 28 30

TREE(H 77 EL):
WiE L |2 | EE3 | WE4 | WES | WiE6 | W7 | EEs | Wi
32 33 34 35 36 37 38 39 40
JWE 10 | M 11 | EiE 12 | liE 13 | aliE 14 | fiE 15 | iiE 16
41 42 43 44 45 46 47

SR E (ulong):
WiE1 | @E2 | WE3 | WE4 | WES | MiE6 | WME7 | mEs | Wi
112 114 116 118 120 122 124 126 128
JHIE 10 | EE 11 | JEiE 12 | JEIE 13 | GEiE 14 | #iE 15 | EiE 16
130 132 134 136 138 140 142

T b RPE = SRR (ulong)
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1. CRC KXt
CRC R0 [ A AR R P ek St e, 7 R i MR EAL 16 1) K A7 gk o
T8, DA BRI = A — AN T R S (B CRC ) r 4z, JFFMIESS RIS,
RGBT —BERIRS P SO (k+ b, Sa sk & AR, RS S A
CRC 52 [ Fr g (1 MW BEA TRz 6, DAR e A0 vh R 7 H A

2. CRC REHE

/ICalCrc ==

J[Evilita T CRC &5

1124 buf B % i

/i length  FIGKE

&[] CRC I 4 R B IE R R HL
const uchar ucCRCHI[] =

{

0x00, OxC1, 0x81, 0x40, 0x01, 0xC0, 0x80, 0x41, 0x01, OxCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, OxC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO,
0x80, 0x41, 0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40,
0x00, OxC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x00, OxC1,
0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41,
0x00, OxC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x00, OxC1,
0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO0, 0x80, 0x41,
0x00, O0xC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x00, OxC1, 0x81, 0x40,
0x01, OxCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41, 0x00, 0xC1,
0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x00, OxC1, 0x81, 0x40,
0x00, O0xC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40,
0x01, 0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO,
0x80, 0x41, 0x01, 0xCO, 0x80, 0x41, 0x00, OxC1, 0x81, 0x40,
0x00, OxC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41,
0x00, O0xC1, 0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x01, OxCO, 0x80, 0x41,
0x01, O0xCO0, 0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40, 0x00, OxC1, 0x81, 0x40,
0x01, O0xCO0, 0x80, 0x41, 0x01, 0xCO, 0x80, 0x41, 0x00, 0xC1,
0x81, 0x40, 0x00, 0xC1, 0x81, 0x40, 0x01, OxCO, 0x80, 0x41,
0x00, OxC1, 0x81, 0x40, 0x01, 0xCO, 0x80, 0x41, 0x01, 0xCO,
0x80, 0x41, 0x00, 0xC1, 0x81, 0x40



const uchar ucCRCLo[] =

{

s

0x00, 0xCO0, 0xC1, 0x01, 0xC3, 0x03, 0x02, 0xC2, 0xC6, 0x086,
0x07, OxC7, 0x05, OxC5, 0xC4, 0x04, 0xCC, 0x0C, 0x0D, 0xCD,
OxOF, OxCF, OxCE, OxOE, Ox0A, 0xCA, 0xCB, 0x0B, 0xC9, 0x09,
0x08, 0xC8, 0xD8, 0x18, 0x19, 0xD9, 0x1B, 0xDB, OxDA, 0x1A,
Ox1E, OxDE, OxDF, Ox1F, 0xDD, 0x1D, 0x1C, O0xDC, 0x14, 0xD4,
0xD5, 0x15, 0xD7, 0x17, 0x16, 0xD6, 0xD2, 0x12, 0x13, 0xD3,
0x11, 0xD1, 0xDO0, 0x10, OxFO0, 0x30, 0x31, OxF1, 0x33, OxF3,
OxF2, 0x32, 0x36, OxF6, OxF7, 0x37, OXF5, 0x35, 0x34, OxF4,
0x3C, OxFC, OxFD, 0x3D, OxFF, 0x3F, Ox3E, OXxFE, OxFA, Ox3A,
0x3B, OxFB, 0x39, 0xF9, OxF8, 0x38, 0x28, OXES8, OXE9, 0x29,
OXEB, 0x2B, 0x2A, OXEA, OXEE, 0x2E, 0x2F, OXEF, 0x2D, OXED,
OXEC, 0x2C, OxE4, 0x24, 0x25, OXE5, 0x27, OXE7, OXE6, 0x26,
0x22, OXE2, OxE3, 0x23, OXE1, 0x21, 0x20, OXEOQ, O0xAO0, 0x60,
0x61, OxA1l, 0x63, 0xA3, OxA2, 0x62, 0x66, OxA6, OxA7, 0x67,
OxAb, 0x65, 0x64, 0xA4, 0x6C, OXAC, OxAD, 0x6D, OxXAF, Ox6F,
Ox6E, OXAE, OxAA, 0x6A, 0x6B, OXAB, 0x69, 0xA9, 0xA8, 0x68,
0x78, 0xB8, 0xB9, 0x79, O0xBB, 0x7B, 0x7A, 0XxBA, OXBE, OX7E,
Ox7F, OxBF, 0x7D, 0xBD, OxBC, 0x7C, 0xB4, 0x74, 0x75, 0xB5,
0x77, 0xB7, 0xB6, 0x76, 0x72, 0xB2, 0xB3, 0x73, O0xB1, 0x71,
0x70, 0xBO, 0x50, 0x90, 0x91, 0x51, 0x93, 0x53, 0x52, 0x92,
0x96, 0x56, 0x57, 0x97, 0x55, 0x95, 0x94, 0x54, 0x9C, 0x5C,
0x5D, 0x9D, 0x5F, 0x9F, OX9E, Ox5E, 0x5A, 0x9A, 0x9B, 0x5B,
0x99, 0x59, 0x58, 0x98, 0x88, 0x48, 0x49, 0x89, 0x4B, 0x8B,
Ox8A, Ox4A, Ox4E, Ox8E, 0x8F, Ox4F, 0x8D, 0x4D, 0x4C, 0x8C,
0x44, 0x84, 0x85, 0x45, 0x87, 0x47, 0x46, 0x86, 0x82, 0x42,
0x43, 0x83, 0x41, 0x81, 0x80, 0x40

IICRC 14
ushort CalCrc(uchar *pucData , ushort usDatalen)

{

uchar ucCrcLo = OxFF ;
uchar ucCrcHi = OxFF ;
uchar ucindex ;
while(usDataLen--)

{
uclndex = ucCrcLo " *pucData++ ;
ucCrcLo = ucCrcHi » ucCRCHi[uclndex] ;
ucCrcHi = ucCRCLo[ucIndex] ;

I3

return (ucCrcHi * 0x100 + ucCrcLo) ;
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1. |EEE4 B mEamifiN

4 753k 32 41

00-22 fif. X (L)%

23-30 47 Brag (2n ¢ Brdd - 127))
3147 F545(0 1F;1 1)

fli= (FF5) [ (LEHD * (27 (5 - 127)) ]

2. %5 B
1. ¥ : 08 03 00 CO 00 02 C4 AE[fw#s 192, KJ&¥ 2 7]

2. WH s : 08 03 04 00 00 40 88 52 95445 00004088, K:J& 04]
3. 4rHT¥diE: 00 00 40 88[FF1 FF2 FF3 FF4]
A. B G2 HiF 40 88 00 00[FF3 FF4 FF1 FF2]
—3fHl: 0100 0000 1000 1000 0000 0000 0000 0000
B. /2% = 000 1000 0000 0000 0000 0000 B = 0.0625;
By fih

10000001B - 127 =129 - 127 =2,

5 = (+);
C. - HUE:+[1.0625 * 2/2] = 4.25
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